JL_

Identify Linear Functions (Table) Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) |y=x*+8 2) | y=x%7 3) | Y=5xX-(Xx-1)
x|y X |y X Y L
-4 | 24 -5 18 -1 -6
-6 | 44 7| 42 -5 -30 2.
5|33 -8 | 57 -6 -36
8 | 72 3|2 -9 -54 3.
9 | 89 9|74 7 42
4.
5.
4) NN v 5) ve Alx2 6) \;=-x\-(4 .
X | Y Xl Y 11 3
-10 | 9.899 -5 | 5.000 311 -
-6 | 5.831 -6 | 6.000 =11
3 | 2.646 5 | 5.000 —T3 o
8 | 7.874 6 | 6.000 > T
9 | 8888 8 | 8.000 o
10.
) | y=-x? 8) | y=/X_ 9 |y=5xx+4?
x| Y <1y X | Y 1
2| -4 21414 2| 6
5]-25 31732 -7 | 19 2
-8|-64 4 |2.000 -9 | -29
0] 0 7 | 2.645 3| 31
61-36 82828 6 | 46
10) Y:x/B)<2 11) | Y=7xX-(X+4) 12) |Y=X+6
X Y X |Y
X| Y -2 | -16 6|0
-10{-2.500 T e
1 1-0250 -9 | -58 7|13
> |-1250 5 26 8 | 14
7|10 9 50 9|15
5 | 1.250
1-10 192|83|75(67|58|50|42(33|25]| 17
[ Math ]www.CommonCoreSheets.com 1 111121 8] 0 SIS




C:# |dentify Linear Functions (Table)

Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) |y=x*8 2) | y=x%7 3) | Y=5xX-(Xx-1) .
XY X[y X Y L
-4 | 24 5|18 -1 -6
-6 | 44 7| 42 5 | -30 2 no
5 |33 -8 | 57 -6 -36
g8 |72 3|2 9 | -54 3 yes
9 |89 9 |74 7 42
4. no
5. no
4) 5) 6) |Y=-X-4
Y=V X%-2 Y= X2 —— 6. YES
X | Y X| Y 113
-10 | 9.899 -5 | 5.000 ST - no
-6 | 5.831 -6 | 6.000 s 1
3 | 2.646 5 | 5.000 713 8 no
8 | 7.874 6 | 6.000 > T 6
9 |8.888 8 | 8.000 o VEs
10. YES
7 [y=x? 8) | y=v/X 9) | y=5xx+42 o
x| Y <1y X | Y 1 y
2| -4 -2 6
21414 > yes
-51-25 311732 -7 | -19
-8|-64 4 |2.000 -9 | -29
010 7 | 2.645 3 31
6 | -36 812.828 6 46
10) Y:x/8x2 11) | Y=7xX-(X+4) 12) | y=X+6
—r— X Y XY
10| -2.500 2 | 16 610
-1 -0.250 2 812
'5 '1'250 -9 -58 7|13
'7 '1'750 5 26 8|14
B 9 50 9|15
5 | 1.250
1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y:X/5 2) Y:,\/x_ +4 3) Y =-Xx2
X[ v XY t
X| Y
o| 4 2| 4
-1(-0.200 5 2
2 | 5414 1]- '
-2|-0.400
= 3 | 5732 7]-14
1 6 8 |-16 3
-7|-1.400
ET 1 8 | 6.828 9]-18
4,
5.
4) [Y=3xX-(X+8) 5 |Y=2+X 6) |y=n/Xa
X | Y X[y x| v °
-1 | -10 715 4 | 0.000
2 -12 2| 4 5 | 1.000 !
4 -16 3|5 7 11732
5 | 18 6|8 8 | 2,000 >
6 -20 8 |10 9 (2236
9.
10.
7) 8) |y=-X-8 9 [y=x?
Y= X2%9 M 11
X|Y XY '
Ll 1] -7 5|25
6 | 5.196 3T s '1 1 1.
-8 | 7.416 =T T2
-9 | 8.485 ST 1 3T o
4 | 2.646 s 16 s Tea
6 | 5196
10) = 11) Y:2X+9 12) Y_3+X/
- 9
A/X+8 X| Y —r—
X| Y -219.250 10| Lego
-3 2.236 89004 _4 2.556
10 | 4.242 3| 17 '1 3'111
1 | 3.000 5| 41 :
2 | 3.162 81| 265 g gggg
6 | 3.741 :

2 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
D Y:X/5 2 Iy=n/X +4 3 |Y=xx2 yes
X| ¥ 2| 4
“1[-0.200 0] 4 T 5 no
2 | 5.414 -
-2-0.400
I 3| 5.732 7 |-14
21 6 8 |-16 3. PASS
-7|-1.400
=1 1 8 | 6.828 9 |-18 Ves
4.
5. YES
4) [y=3xX-(X+8) o) | Y=2+X 6) |y=n/Xa .
X | Y X|Y <1 Y °.
1 | -10 7|5 4 | 0.000 no
2 | 12 2|4 5 [ 1.000 b
4 | -16 3|5 71732
5 | -18 6|8 8 | 2.000 8 A
6 | -20 8 |10 9| 2236
9, no
10. no
7) 8) |Y=-X-8 9 |y=x>
Y= X2-9 NS 11 no
X |y x|y '
LY 1] -7 5(25
-6 | 5.196 15 ot " yes
-8 | 7.416 = T
-9 | 8.485 o =T
4 | 2.646 ART e
6 | 5.19
10) = 11) Y=2"+9 12) Y_3+X/
- 9
A/X+8 X| Y —r—
X| Y -2(9.250 10| Lego
-3 2.236 819004 '4 2.556
10 | 4.242 3] 17 _1 3'111
1 | 3.000 5| 41 :
2 3162 s 265 ‘5‘ 2;‘2:
6 | 3.741 :

2 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0

[ M ath ] www.CommonCoreSheets.com




JL_

Identify Linear Functions (Table) Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
D ly=A/x2 2) Y:x/7x . 3) |Y=3+X
X Y X |y 1.
2 [ 0.000 R 41
T 000 -3|-1.714 <3 ”
2 (1414 {22 3|6
- 2-449 -8(-4.571 217 3
; 2-645 10571 s 9
: 6 | 3.429 .
5.
4) |Y=-X-5 5 |y=Xx-2 6) | Y=2xX-(X+6)
X |y X |y X Y 6.
1] -4 4] -6 -1 -7
4| -1 1(-1 6 | -12 7.
7] 2 210 -9 | -15
6 |-11 715 5 -1 8.
7 |-12 8|6 7 1
9.
10.
) | y=X?+4 8) | Y=-X 9) ——— "
XY XY X
_15 120: _1f f -6 | 5.385 1
= T -8 | 7.550
o T e =16 -9 | 8.602
= 515 3 | 1414
5 | 4.243
10) | y=/X 11) | y=6xX+6> 12) | y=2-X
X Y X Y XY
10| 3.162 -10 | -24 10|12
3 (1732 4 | 12 113
4 | 2.000 0 | 36 416
6 | 2.449 1 | 42 9|11
8 | 2.828 3 | 54 210
1-10 {9283 |75(67|58|50|42(33|25|17
[ Math ]www.CommonCoreSheets.com 3 111121 8] 0 SIS




JL_

Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
D ly=A/x2 2) Y:x/7x . 3) |Y=3+X .
X Y X |y 1.
2 | 0.000 at I 4] -1
-3|-1.714 1 2. yes
3 | 1.000 6| -3
4] 1414 41229 3|6
2 2'449 -8|-4.571 217 3 yes
; 2-645 1| 0571 s g
: 6 | 3.429 . Ves
5. YES
4) |Y=-X-5 5 |y=Xx-2 6) | Y=2xX-(X+6)
x|y XY X Y 6. VASS
1] -4 4| -6 -1 -7
4 1 11 6 | -12 7. no
7] 2 210 -9 | -15
6 |-11 715 5 -1 8. yes
7 |-12 8|6 7 1
9. no
10. no
7 — 8 — 9
) \;_x ;4 ) )\: >:( ) YX: e " yes
T 12%4 14? f -6 | 5.385 12. yes
T30 T -8 | 7.550
o Ta 56 -9 | 8.602
e s T8 3| 1414
5 | 4.243
10) | y=n/x 1) | y=6xX+6 12) [y=2-X
X Y X Y XY
10| 3.162 -10 | -24 -10]12
3 (1732 4 | 12 113
4 [2.000 0 | 36 416
6 | 2.449 1 | 42 911
8 [ 2.828 3 | 54 210
1-10 {9283 |75(67|58|50|42(33|25|17
[ Math ]WWW.CommonCoreSheets.com 3 111121 8] 0 SIS




JL_

Identify Linear Functions (Table) Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
D |v=x*6 2) | y=a/X 3 | v=6"+4
x|y VA X v L
-2 | 10 10| 3.162 -10) 4
-3 115 1 | 1.000 -5 | 4.000 2
-4 | 22 311.732 -7 | 0.040
-7 | 55 4 [2.000 9| 4 3
2|10 7 | 2.645 7 |279,940
4.
5.
4) | y=x? 5 |y=A/6xX_ 6) |y=2xx+3
XY <1 v X | Y °.
-10| 100 1 | 2.449 -1 7
1)1 2 | 3464 3| 3 &
5|25 3| 4.242 -5 | -1
2| 4 4 | 4.898 -8 | -7 8
5|25 8 | 6.928 019
9.
10.
) | y=x*+3 8) | Y=4xX-(X+4) 9) |Y=X+3
XY X Y X |y 1L
-10(103 -1 -7 10| -7
4|19 1 -1 51-2 12.
0| 3 3 5 7| -4
2| 7 4 8 114
3|12 7 17 9 |12
10) |y=X-7 11) | y=-x? 12) | Y=9-X
XY XY XY
-2| -9 -10|-100 -1]10
-3(-10 -4 | -16 5|14
2| -5 5| -25 3|6
3| -4 -6 | -36 5| 4
9| 2 6 | -36 6|3
1-10 192|83|75(67|58|50|42(33|25]| 17
[ Math ]www.CommonCoreSheets.com 4 111121 8] 0 SIS




JL_

Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
D |v=x*6 2) | y=a/X 3 | v=6"+4
x|y VA X v L no
-2 | 10 10| 3.162 -10) 4
-3 115 1 | 1.000 -5 | 4.000 2 no
-4 | 22 311.732 -7 | 0.040
-7 | 55 4 [2.000 9| 4 3 no
2|10 7 | 2.645 7 |279,940
4. no
5. no
4) | y=x? 5 |y=A/6xX_ 6) |y=2xx+3
XY <1 v X | Y °. PASS
-10| 100 1 | 2.449 -1 7
7. no
111 2 | 3.464 -3 1 3
5|25 3| 4.242 -5 | -1
2| 4 4 | 4.898 -8 | -7 8 PSS
5|25 8 | 6.928 019
0. YES
10. YES
) | y=x*+3 8) | Y=4xX-(X+4) 9) |Y=X+3
11. no
XY X Y X |Y
10| 103 -1 -7 -10| -7
4|19 1 -1 51-2 12. yes
0| 3 3 5 71-4
2 | 7 4 8 114
3|12 7 17 9 |12
10) |y=X-7 11) | y=2x? 12) | Y=9-X
X|Y XY X |Y
2| -9 -10|-100 -1]10
-3(-10 -4 | -16 5|14
2| -5 5| -25 3|6
3| -4 -6 | -36 5| 4
9| 2 6 | -36 6|3
1-10 192|83|75(67|58|50|42(33|25]| 17
[ Math ]WWW.CommonCoreSheets.com 4 111121 8] 0 SIS




C:# |dentify Linear Functions (Table)

Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
Y y=vx 47 D ly= /X2 K Y=0+/, 1
X|] Y x| v x| v
0] 7 -2 | 2.000 -3(8.500 ’
38732 -3 3.000 -4]8.333 '
41 9 -4 | 4.000 5] 8.167 3
7 | 9645 -7 | 7.000 4| 9.667 '
8 | 9.828 3 [ 3.000 5[9.833 A
5.
4) | y=_x? 5 | y=6*+2 6) |Y=4+X
X[y x| v X |y 6.
-6-36 -6]0.002 2| 2
oo -7|0.000 -8| -4 £
1] -1 -8[0.000 1|5
5|-25 1| 8 2|6 8.
7 | -49 41,208 9|13
9.
10.
7) |Y=-X 8) Y:’\/X_ 9) Y =X?
X |y X v Xy 11.
66 0 | 0.000 3|9
8|8 10(3.162 416 12
2|2 2 [1414 6|36
-3 7 | 2.645 7149
-7 8 | 2.828 8 | 64
10) Y:x Y 11) = 12) | y=3xX-(Xx-1)
B X3 X | Y
X] Y x| v 10 | -40
3| -1 0 | 0.000 8 | 32
-5 | -1.667 10 | 5.477 9 | 36
6] -2 3 | 3.000 1 4
-8 -2.667 = 3877 5 %
1]0333 7 | 4582
1-10 | 9283 75|67 [58[50] 4233|2517 |

[ M ath ] www.CommonCoreSheets.com 5
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JL_

Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
1 - 2 3 X
) ly=vX +7 ) v= A/ X2 ) Y=9+ /¢ L no
X| Y x| v x| v
0 7 -2 | 2.000 -3/8.500 3 no
3 | 8732 -3 3.000 -4]8.333
4|1 9 - -
T 4 | 4.000 5|8.167 3 yes
- -7 | 7.000 4 19.667
8 | 9.828 3 | 3.000 5[9.833 A no
5. no
4) | y=2x> 5 | Y=6*+2 6) |Y=4+X e
x| Y x| Y XY ° y
-6|-36 -6|0.002 2| 2 s
0] 0 710,000 8| -4 7 y
1] -1 -8(0.000 1|5
5|25 1| 8 2|6 8 no
7 |-49 4 (1,298 9 (13
9, no
10. YES
7) [y=x 8) | yon/X 9 |y=x?
11. no
XY X Y XY
6|6 0 |0.000 319
: es
8|8 10]3.162 4]16 L—
2|2 2 (1414 6|36
3 -3 7 | 2.645 7149
[ 8 | 2.828 8|64
100 1 2% 11) = 12) | Y=3xX-(Xx-1)
- Y3 X3 X Y
X| Y -10 | -40
el 0 | 0.000 8 | 32
| -1667 10 | 5.477 9 | -3
6] -2 3 [ 3.000 1 4
-8[-2.667 5 |3.872 9 36
1]0333 7 [4582
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 111121 8] 0




C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
1 X 2 =_X- 3
) y=4+"/, ) | Y=-X-6 ) | yea/X )
XY <y :
X | Y >
3| 3 2] 4 0|0.000
4l -2 2
4 21414
6| 2
6] 0 31732
0| 4
5|-11 6 2,429 3,
415333 :
9l 7 8|-14 9 |3.000
4.
5.
4 | y=A/X9 5) | Y=-X+3 6) | Y=9xX-(X+7)
X| Y XY X Y 6.
10| 1.000 5|8 -1 -15
9 | 0.000 013 -5 -47 7.
2 |1 0 -7
5 | -2 4 25 8.
9 |-6 9 65
9.
10.
7 X 8 = 9 —y?2
) Y= /3X4 ) ) Y=X"+9 "
x| Y A/Xx5 XY :
1]-1.333 X1 Y 1110
= 10| 7.071 3118 12
i 2 | 3162 6145
-5| -6.667
3 |3.872 81 73
3| 4 7 | 5.916 9 90
8 | 10.667 5 T6.708
10) —6* 11) 12)
XY 6;’5 Y= x%3 y= 4/ X2
9] -5 X] Y Al
'2 oL -4 | 3.606 6 | 6.000
AREET 2 | 1.000 2 | 2.000
: 7’781 3 | 2.449 4 | 4.000
8| 1,679,621 8 | 7810 5 | 5000
A 9 | 8.832 8 | 8.000

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 6 11-12| 8 | O




C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
1 X 2 =_X- 3
"7 ) |Y=X6 ) | y=w/X . ves
XY x| Y '
X| Y T2
3| 3 0 | 0.000 , yes
6l 2 4] -2 21414 :
ol 2 6] 0 31732
4 |5.333 :
9l 7 8-14 9 [3.000
4, no
5, yes
4) Y=A/X9 5 |y=-X+3 6) | Y=9xX-(X+7) yes
X| Y X|Y X Y 6.
10 | 1.000 5| 8 -1 -15 o
9 |0.000 0] 3 -5 -47 7. Yy
2 11 0 -7
5| -2 4 25 8. no
9| -6 9 65
) no
10. no
7) X 8) = 9) Y:X2+9
Y="/x4
- “:’( NS —r 11, no
1]-1.333 Xl Y 1110
= 10| 7.071 3118 12, no
i 2 | 3162 6145
5| -6.667
3 (3872 873
3] 4 7 | 5.916 9 [ 90
8 | 10.667 s T6708
10) —g~ 11) 12)
XY6;’5 Y=/ Xx%3 y= A/ x2
9 = X | Y X| Y
'2 oL -4 | 3.606 -6 | 6.000
AREET 2 | 1.000 2 | 2.000
c 7’781 3 | 2.449 4 | 4.000
8 [ 1679621 8 | 7810 5 | 5.000
209 9 | 8832 8 | 8.000

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 6 11-12| 8 | O




C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
D Y="/x5 2 | v=5'47 3 v= A/ X2 .
X |Y Xl Y X| Y
-6 | -6 '2 6160880 -4 | 4.000 )
-7 -7 : -7 | 7.000
313 4] 632 -8 | 8.000
5| 3,132 3.
5|5 7 | 7.000
717 7] 78132 9 | 9.000 .
5.
4) | y=-x2 5 [Y=-X-6 6) =
X|Y X|Y XX 6
3] -9 ‘1| -5 X | Y
-6|-36 5| -1 10 | 8.366 7
-8|-64 8| 2 1 | 2.645
-9|-81 4 |-10 3 | 4.582 8
8 |-64 8 |-14 5 | 5.916
8 | 7.483 9
10.
D ly=vx_+6 ¥ ly=vax ? v=A/x27 11.
Xl Y Kl X | Y
0| 6 2 | 2.000 10| 9.644 .
2 | 7.414 6 | 3.464 8 | 75%0
3| 1732 73741 10 | 9.644
8 | 8828 8 | 4000 5 | 4.243
9] 9 9 | 4242 9 | 8.602
10) |y=-X 11) X 12) [y=-x+3
Y="4
X |Y X |Y
1)1 |l 2|5
>l -2|-0.222 21
2l -3(-0.333 310
=17 6 | 0.667 513
olo 710.778 5=
8 | 0.889

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 7 11-12| 8 | O




C:# Identify Linear Functions (Table) Name: Answer Key

Determineif thetable shown representsa linear function (yes) or not (no). Answers
1) v="/ex5 2 |_y=547 J Y=V X2 Yes
x| v "
—r— X| v
=6 -5| 7.000 -4 | 4.000 2 no
o= -6 | 640.000 717000
S T3 451 36352 -8 | 8.000 3 no
¢ , 7 | 7.000
> L 7| 78132 9 | 9.000 4 no
5, YEs
) [yon? 5 [Y=-X-6 ®) =
X] Y Ll —— ) -
s 1] 5 X | Y
T3 1 10 | 8.366 ’ no
et Bl 2 1 |2645
9|81 41-10 3 | 4582 8. no
) 8 |-14 5 | 5.916
8 | 7.483 J no
10. yes
) |y=A/X +6 8) |y=n/2xX ) Y= N X?%7 11. yes
X| Y X| Y X | Y
ol 6 2 | 2.000 -10 | 9.644 12 yes
2 | 7414 6 | 3.464 -8 | 7.550
3| 7732 7| 374 10 | 9.644
8 | 8.828 8 | 4.000 5 | 4.243
9| 9 9 | 4.242 9 | 8.602
10) [Vox 11) X 12) |y=-X+3
Y="74
—— X |Y
A X| Y 2|5
> -2|-0.222 27
e -3/-0.333 31 0
- 6 | 0.667 6 1 3
=15 710778 3| 5
8| 0.889

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 7 11-12| 8 | O




C:# |dentify Linear Functions (Table)

Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y=7"+4 2) |Y=-Xx9 3) | y=-x2
X Y x| v x|y L
B 3| 27 1] -1
-3 | 4.003 9 81 -7 -49 2
-6 | 0.080 0] 0 -9]-81
3| 347 3 |-27 o -a 3,
7 (823,547 8 | -72 7 |-49
4.
5.
4) v=/xa 5 |Y=X 6) |Y=-X-5 .
XY X|Y :
Xl Y 5[5 2| -3
-1{-0571 ne =10 -
-2(-1.143 oo o1
-3(-1.714 33 —T> 8
1| 0571 s =13
21143 o
10.
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
X Y X |y <1 v 1
2 | 8 1) 4 10| 1.414
5 | -20 411 8 | 0.000 2
6 | -24 8] -3 9 | 1.000
-7 -28 9| -4
9 36 5110
10) Y=7+></4 11) |y=x%6 12) [y=6-X
XY X |Y
X| Y -5 19 -4 110
4] © ol-6 9|15
-7|5.250
2| -2 3|3
8] 5 519 51
1|7.250 EC T3
4| 8
1-10 192|83|75(67|58|50|42(33|25]| 17
[ Math ]www.CommonCoreSheets.com 8 111121 8] 0 SIS




JL_

Identify Linear Functions (Table) Name: Answer Key
Determineif the table shown representsalinear function (yes) or not (no). Answers
1) Y=7"+4 2) |Y=-Xx9 3) | y=-x2
X Y x| v X[y L no
-10| 4 3| 27 1 -1
-3 | 4.003 9| 81 -7|-49 2 yes
-6 | 0.080 0|0 -9|-81
3| 347 3|-27 > 4 3. no
7 | 823,547 8 |-72 7 |-49
4, yEes
5. YES
4) X 5 |yY=-X 6) |Y=-X-5
Ll x[Y X [y 6. yes
Xl Y 5|5 2|3
-1|-0.571 N =10 7 yes
-2|-1.143 o9 o1
-3(-1.714 313 712 8 yes
10571 sl o3
21 1.143 9 no
10. YES
7) | Y=3xX-(Xx-1) 8) |Y=X+5 9 |y=n/X8
11. no
X Y X|Y <1 v
2 | 8 1) 4 10| 1.414
5 | -20 411 8 | 0.000 2__ Y&
6 | -24 8] -3 9 | 1.000
-7 -28 9| -4
9 36 5 | 10
10) Y:7+X/4 11) Y=X°6 12) |vy=6-X
X |Y XY
X| Y -5 19 -4 110
4] © ol-6 9|15
-7|5.250
2| -2 3|3
8] 5 519 51
1 |7.250 N T
4| 8
1-10 {9283 |75(67|58|50|42(33|25|17
[ Math ]WWW.CommonCoreSheets.com 8 111121 8] 0 SIS




C:# |dentify Linear Functions (Table) Name:

Deter mine if the table shown represents a linear function (yes) or not (no). Answers
) e 2) R 3) Y =3xX-(X+6)
XY x| v X | Y '
3|3 10| 3.162 6 | 18
6|6 1 [1.000 | 20 i
41-4 3 (1732 e
66 4 [2.000 0 | ?
8]-8 8 | 2628 > | 4
4,
5.
4 X 5 6 ==
) | v=xs ' y= /%2 ) \;X;E’ 6
X| Y X| Y 4110
-2[-2.500 -10{ 10.000 > T2 7
= -8 | 8.000 215
1] 1.250 5 | 5.000 =1
8| 10 8 | 8.000 9
10.
N y=x2 8 | y=n/2xx V1 v,
X|Y X| Y X| Y .
-Z -652 3 | 2449 -10{-3.333 12.
e 51 3.162 -1 1-0333
6 | 3.464 4 |-1.333
5-25 7 [ 3741 ol o
6-36
9| 4.242 3 1
10) [Y=g+x 11) [y=4-x 12) 1y=x*9
x|y X|Y LKl
5] 3 1|5 8|55
711 3|7 01-9
0l 8 7111 1-8
7|15 9|13 3|10
8|16 13 7140

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 9 11-12| 8 | O




C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsa linear function (yes) or not (no). Answers
1) [v=x 2 | y=n/X 3) | Y=3xX-(X+6)
X |y x| vy - i ' =
3|3 10| 3.162 6 | -18
” no
6|6 1 | 1.000 7| =20
4-4 3 (1732 e
6|6 4 (2,000 0 | ? =
8|8 8 |2.828 > | 4
4. yes
5 no
2) - 5) 6) | Y=-X+6
Y="/,x5 Y= 4 X? —— 6. yes
x| v X| Y 410
-2|-2.500 -10(10.000 > 2 7 no
2l 5 -8 | 8.000 R
ol o 2 | 2.000 sl o 8 no
1] 1.250 5 | 5.000 T
8| 10 8 | 8.000 9 yes
10. yes
7 [y=x2 8) - 9) X
Y =\/2xX Y="73 11, yes
x|y X | Y X | Y
-Z -692 3 | 2.449 -10(-3.333 12 no
e 51 3.162 -1 1-0333
6 | 3.464 4 [-1.333
5|-25 7 | 3741 ol o
6 -36
9| 4.242 3 1
10) [y=8+x 11) [y=4-x 12) |y=x%9
x|y XY Ll
5|3 1] 5 -8 55
7)1 3| 7 01-9
0l 8 7111 1-8
7|15 9|13 310
8 |16 1]3 7140

1-10 | 9283 75|67 [58[50] 4233|2517 |
[ M ath ] www.CommonCoreSheets.com 9 11-12| 8 | O




C:# |dentify Linear Functions (Table) Name:

Determineif the table shown representsalinear function (yes) or not (no). Answers
1) 2) |Y=-X+ 3)

Y= VX3 X Y6 Y= VX2 1

X Y > 18 X | Y

-2 | 1.000 319 -2 | 2.000 ”

-8 | 7.810 R -7 | 7.000

3 | 2.449 s 1o 1 | 1.000 3

6 | 5.745 =T 6 | 6.000

8 | 7.810 9 | 9.000 .

5.

4 | Y=TxxX+8" 5) 6) [y=x

YX7XXJ;8 v= A x%7 ; f{ 6

10 | -6 X Y 3| -9

- - -3 | 1414 — .

; gg -4 | 3.000 'g '22

~ > -6 | 5.385 '3 '9 8

_: 8 7| 6481 6 -36

_ -9 | 8.602 _ o

10.

7) | y=x%+5 8) = 9) | Y=4xX-(Xx-1)

x|y A/X+9 X | Y H

-10| 105 X| Y -2 -10

-7 54 -4 | 2.236 -9 45 12.

91| 86 -5 | 2.000 1 5

3114 -6 | 1.732 3 15

6 | 41 -9 | 0.000 8 40

10 | 4.358

10) | yoa/x 11) | y=3+X 12) |y=x-2

x| Y X |Y X|Y

0 [0.000 10| -7 3] 5

10(3.162 2|1 4| -6

4 12.000 013 -8(-10

5 [2.236 417 311

10 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
1) 2) |Y=-X+ 3)
Y= X2-3 X Y6 Y= X2 1. no
X Y >l 8 X Y
-2 | 1.000 31 o -2 | 2.000 5 yes
-8 | 7.810 5 1 -7 | 7.000
3 | 2449 5 10 1| 1.000 3 no
6 | 5.745 T 6 | 6.000
8 | 7.810 9 | 9.000 4 yes
5. no
4 | Y=TxxX+8" 5) 6) [y=x
YX7XXJ;8 v= A x27 ; >\<( . no
10 6 X Y 3] -9
- - -3 | 1414 — - no
; 2; -4 | 3.000 'g '22
_ 5 -6 | 5.385 -3 -9 8 no
_Z 8 7] 6481 6 -36
- -9 | 8.602 - o VEs
10. no
7) | y=x%+5 8) = 9) | Y=4xX-(Xx-1) s
X | Y A/X+9 X Y 1L y
-10| 105 X Y -2 -10
-7 54 -4 | 2.236 -9 45 12. Yes
91| 86 -5 | 2.000 1 5
3114 -6 | 1.732 3 15
6 | 41 -9 | 0.000 8 40
10 | 4.358
10) | v/ 11) | y=3+X 12) |y=x-2
X Y XY X|Y
0 | 0.000 -10| -7 3| -5
10]3.162 21 4| -6
4 12.000 0|3 -81-10
5 [2.236 417 311

10 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0

[ M ath ] www.CommonCoreSheets.com
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